B & du kB 100 825 B AR E 3 — ABA R

% () B M A

#+ B M %18 £18
O ERTRRA T EM

16
x+1

3w

— + (20%)RREEW vy =1£0)=x+- 5

(2) (8%) WB £ (x) 7 (%)
(b) (4%) HERBRHR AR BT -
(©) (8%) M HEES Y ERET -

— . (15%) EREBLVSBEAIER 8 T EREHHE -
G E R AR 5,000 T 0 BEBALZEAR 229 70 5K
(a) (4%) WO \BEME R BERAREE C -
(b) (4%) EERES 1,800 BLATRFZFIE <
() (4%) $uts BERE T B A AR 10,000 7T -
(d) 3%) #EZ-B:(Break-Even Point)

- (15%) 2& £ (x,y2) = e™* cos5z > K

[

@ f,, (xy2), f,&y2)

() £, (x,3,2) + £, (k,2) + 1, (xy2) =7

I~ (20%) EHETHIER

(a) lenx2dx (b) Ixsinxcosz xdx
(c) JZxe+2dx (d) Ix’ e dx
0

A~ (15%)z&ER 1111—1;130 nl'!lx"': 0, -e<x<e
Hint: ()58 — LR BI5E n EE a, 0 A AR

g lima, =0

A~ (15%)E AR MR BATE Fe ik (Lagrange Multipliers) » SR, DEFE 2x-yz =7 ZBIEHHE -

R A



